

RECEIVED

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

AUG 10 2005 OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM KCC WICHITAWELL HISTORY - DESCRIPTION OF WELL & LEASE

	F	orm /	rco-
	Sept	embe	r 1999
Form	Must	Be T	ypec

KCC AAIOU WELL HISTORY - DESCI	API No. 15 - 007=22876-00-00 OPI OPI
Operator: License # 31191	API No. 15 - 22070 00 00
Name: R&B Oil & Gas	County: Barber County, Kansas
Attion Vanco 67009-0105	SE SW SW Sec. 33 Twp. 32 S. R. 10 East West
City/State/Zip: Attica, Kansas 67009-0195	feet from S N (circle one) Line of Section
Purchaser:	feet from E / (W) circle one) Line of Section
Operator Contact Person: Randy Newberry	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>620</u>) <u>254–7251</u>	(circle one) NE SE NW SW
Contractor: Name: Duke Drilling Co., Inc.	Lease Name: Fischer-Crask Well #: 1
License: 5929	Field Name: Traffas East
Wellsite Geologist: Fred Stump	Producing Formation: <u>Mississippi</u>
Designate Type of Completion:	Elevation: Ground: 1494 Kelly Bushing: 1502
X New Well Re-Entry Workover	Total Depth: 4625 Plug Back Total Depth:
X Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
X Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	0.111 T. 1.11
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan AI+ NOR 8-13-09 (Data must be collected from the Reserve Pit)
Deepening Re-perfConv. to Enhr./SWD	Chloride contentppm Fluid volume 240 bbls
Plug BackPlug Back Total Depth	Dewatering method used Hauled off
Commingled Docket No.	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: R & B Oil & Gas, Inc.
03-25-05 04-01-05	Lease Name: Williams 2 License No.: 31191
Spud Date or Recompletion Date Date Reached TD Completion Date or Recompletion Date	Quarter Sec. 32 Twp. 32 S. R. 10 East West County: Barber Docket No.: D-22, 516
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
Signature: Landy / Centerry	KCC Office Use ONLY
ille: President Date: 8-6-05	Letter of Confidentiality Attached
Subscribed and sworn to before me this <u>6th</u> day of <u>August</u>	If Denied, Yes Date:
2005	// Wireline Log Received
Notary Public: Selection State of My Appt. Expires 7-2/	
Date Commission Expires:	

Operator Name:	R&B Oil &	Gas		Lease	Name:	Fis	cher-C	rask		ے ۔۔۔۔ : Well #:	1	
Sec. <u>33</u> Twp	32 S. R. 10	☐ East	XX West				County	, Kansa	ts			
tested, time tool ope temperature, fluid re	Show important tops a en and closed, flowing ecovery, and flow rate gs surveyed. Attach f	g and shut s if gas to	-in pressures surface test,	, whether shalong with f	hut-in pr	essure	reached s	tatic level,	hydro	static pressi	ures, bott	om hole
Drill Stem Tests Tak		X Ye	es []No		X	_og	Formatio	n (Top), De	epth ai	nd Datum] Sample
Samples Sent to Ge	eological Survey		es 🙀 No		Nan Mis		sippi			Тор 4472	(Datum (-2970)
Cores Taken Electric Log Run (Submit Copy)	Y€ <u>X</u>] Y€	<u> 7</u> x									,	
List All E. Logs Run:	Dual Comp Dual Indu Sonic Cem	ction		sity								
		Repor	CASING t all strings set-	RECORD conductor, su	X No	-	Used	on etc				
Purpose of String	Size Hole Drilled	Size	Casing (In O.D.)	Weig Lbs. /	ght	5	Setting Depth	Type o Cemer		# Sacjs Used		and Percent Additives
Surface	12-1/4"	8-	5/8"	28	#		241'	60/40		185	1	2%ge1
Production	7-7/8"	5-	1/2"	15.	5#	4	615'	60/40 ASC	Poz	25 125	6%ge	1
			ADDITIONAL	CEMENTIN	IG / SQL	JEEZE	RECORD					
Purpose:Perforate	Depth Top Bottom	Туре	ype of Cement		#Sacks Used		Type and Percent Additives					
Protect Casing Plug Back TD												
Plug Off Zone		77.1.										
				.1		l						
Shots Per Foot) - Bridge Plug ach Interval Per			Í		ire, Shot, Ce unt and Kind		Squeeze Reco erial Used)	ord	Depth
2	4500-452	8		1000 gal 7 1/2% HC				CL wit	h			
					10% stimsall							
					Frac 620 sxs 16/30							
						50	sxs CI	RC & 1	2/2	0 sand		
						442	8 BBL	water				
TUBING RECORD	Size 2 7/8	Set At 4 4 7 7		Packer At		Liner	_	,			****	<u> </u>
	Production, SWD or En		Producing Met	hod				Yes X	No No			
4-25-	05				Flowing	ı [X Pumping	G	as Lift	Oth	er (Explain	ı)
Estimated Production Per 24 Hours	Оii в 12	bls.	Gas .80	Mcf	Wate 180	r	Bbls			s-Oil Ratio		Gravity 28
Disposition of Gas METHOD OF COMPLETION						Produ	ction Interva					
Vented Sold (If vented, Su	Used on Lease		Open Hole Other (Speci	<u>X</u> Perf.	D	ually Co	omp.	Commingle	ed			

ALLIED CEMENTING CO., INC. 20385

RUSSELL, KANSAS 67665

SERVICE POINT:

100	1.c.'ne	LDA

RECEIVED

AUG 1 0 2005

KCC WICHITA

	· · · · · · · · · · · · · · · · · · ·
DATE 3-26-05 33 325 10 W	CALLED OUT ON LOCATION JOB START JOB FINISH 12:00 AM
CAGIN	Paran 35, E/NTO Barber 165,
OLD OR NEW (Circle one)	
CONTRACTOR ON Ke # 2	OWNER RAB O: 1+ Gas,
TYPE OF JOB SUPFACE	<u> </u>
HOLE SIZE /2 / 4 T.D. 242	CEMENT
CASING SIZE 85/8 28 DEPTH 24/	AMOUNT ORDERED 1855x 60:40+39
TUBING SIZE DEPTH	CC+24/0 Gc/
DRILL PIPE 4/2 DEPTH 242	
TOOL DEPTH	_
PRES. MAX 250PST MINIMUM —	COMMON///A@8.3092/.30
MEAS. LINE SHOE JOINT 15TA	
CEMENT LEFT IN CSG. 15FT	GEL3@_/3.0039.00
PERFS.	CHLORIDE @ 36.00 _ 216.00
DISPLACEMENT Fresh Water 14BB/	,
EQUIPMENT	
PUMP TRUCK CEMENTER Davic W	<u> </u>
#372 HELPER Dapin Fi	<u> </u>
BULK TRUCK	<u> </u>
# 364 DRIVER David F.	<u> </u>
BULK TRUCK	<u> </u>
# DRIVER	@
	— HANDLING 194 @ 1.50 291.00
<u> </u>	MILEAGE 12 X 194 X 055 165,00
REMARKS:	min chig TOTAL 1965,30
Pipe on Bottom Brake.	.
F. F. OI DOHON DIECK	SERVICE
DUMD 1255x 60:40 3% OCC+	
2% Gel Release Plue Disp	
296 Gel Release Plug DISP W/14BBBS Fresh Water	Lace DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625,000
2% Gel Release Plue Disp	Lace DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625,000
296 Gel Release Plug DISP W/14BBBS Fresh Water	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625,000 EXTRA FOOTAGE @
296 Gel Release Plug DISP W/14BBBS Fresh Water	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625,000 EXTRA FOOTAGE @
296 Gel Release Plug DISP W/14BBBS Fresh Water	PUMP TRUCK CHARGE 625,000 EXTRA FOOTAGE @ MILEAGE /2 @ 4,50 54,000
Pump 1855x 60:40 390cc+ 296 Gel Release Plug Disp. W/14BBB Fresh Water Shut in Cement Dis Cito Wesh up Rig Down.	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625,00 EXTRA FOOTAGE @ MILEAGE /2 @ 4,50 54,00 MANIFOLD @
Pump 1855+ 60:40 390cc+ 296 Gel Release Plug Disp. W/14BBB Fresh WITER Shot in Cement Dis Cito Wesh up Rig Down.	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625,00 EXTRA FOOTAGE @ MILEAGE /2 @ 4.50 54,00 MANIFOLD @ Head Rental @ 75,00 75,00
CHARGE TO: R&B DildGas,	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00
Pump 1855+ 60:40 390cc+ 296 Gel Release Plug Disp. W/14BBB Fresh WITER Shot in Cement Dis Cito Wesh up Rig Down.	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625,00 EXTRA FOOTAGE @ MILEAGE /2 @ 4.50 54,00 MANIFOLD @ Head Rental @ 75,00 75,00
CHARGE TO: RAB DILAGAS,	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00
CHARGE TO: R&B DildGas,	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00
CHARGE TO: RAB DILAGAS,	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 TOTAL 754.00
CHARGE TO: R&B DildGas,	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ 4.50 54.00 MANIFOLD @ 4.50 75.00 Head Rental @ 25.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT
CHARGE TO: R&B DildGas,	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 TOTAL 754.00
CHARGE TO: RAB DildGas, STREET CITYSTATEZIP	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ 4.50 54.00 MANIFOLD @ 4.50 75.00 Head Rental @ 25.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT
CHARGE TO: RAB DildGas, STREET CITYSTATEZIP To Allied Cementing Co., Inc.	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT 8 /8 LJOOCI = 1/1/2 @ 55.00 55.00 @ @
CHARGE TO: RAB OIL GGS, STREET CITY To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT 8 /8 LJOOCI = 1/1/2 @ 55.00 55.00 @ @
CHARGE TO: RAB OIL GAS, STREET TO Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE /2 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT 8 /8 Lloocled Plug @ 55.00 55.00 @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @
CHARGE TO: RAB OILAGS STREET To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE /2 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT 8 /8 LJOOCI CD P/UG @ 55.00 55.00 @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @
CHARGE TO: RAB OILAGS STREET To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT 8 /8 LJOOCICA P/UZ @ 55.00 55.00 @ TOTAL 55.00
CHARGE TO: R&B OildGS, STREET CITY STATE ZIP To Allied Cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AN"	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE /2 @ 4.50 54.00 MANIFOLD @ Head Rental @ 25.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT 8 /8 Lloocled Plug @ 55.00 55.00 @ TOTAL 55.00
CHARGE TO: RAB DIAGS STREET CITY STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AN CONDITIONS" listed on the reverse sideplicable.	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE /2 @ 4.50 54.00 MANIFOLD @ Head Rental @ Z5.00 75.00 TOTAL 754.00 TOTAL 55.00 TOTAL 55.00 TOTAL 55.00
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AN CONDITIONS" listed on the reverse sideplicable.	DEPTH OF JOB 24/ PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE /2 @ 4.50 54.00 MANIFOLD @ Head Rental @ Z5.00 75.00 TOTAL 754.00 TOTAL 55.00 TOTAL 55.00 TOTAL 55.00
CHARGE TO: RAB DIAGS. STREET CITY STATE TO Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AN CONDITIONS" listed on the reverse sideplicable WILL BE CHARGE.	PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 PLUG & FLOAT EQUIPMENT 8 /8 LJOOCI = Plug @ 55.00 55.00 TOTAL 55.00 TOTAL 55.00
CHARGE TO: RAB DIAGS STREET CITY STATE TO Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AN CONDITIONS" listed on the reverse sideplicable WILL BE CHARGUPON INVOICE	PUMP TRUCK CHARGE PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE MANIFOLD Head Rental @ 75.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT 8 /8 LJOOCLED P/UG @ 55.00 55.00 TOTAL 55.000
CHARGE TO: RAB DIAGS STREET CITY STATE TO Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AN CONDITIONS" listed on the reverse sideplicable WILL BE CHARGUPON INVOICE	PUMP TRUCK CHARGE PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE MANIFOLD Head Rental @ 75.00 75.00 TOTAL 754.00 PLUG & FLOAT EQUIPMENT 8 /8 LJOOCLED P/UG @ 55.00 55.00 TOTAL 55.000
CHARGE TO: RAB DILAGS. STREET CITY STATE TO Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AN CONDITIONS" listed on the reverse sideplicable WILL BE CHARGE UPON INVOICE	PUMP TRUCK CHARGE 625.00 EXTRA FOOTAGE @ MILEAGE 12 @ 4.50 54.00 MANIFOLD @ Head Rental @ 75.00 75.00 PLUG & FLOAT EQUIPMENT 8 /8 LJOOCI = Plug @ 55.00 55.00 TOTAL 55.00 TOTAL 55.00

ALLIED CEMENTING CO., INC.

	times + inde		
DENTE TO	DO DOV 31		
KEMII IU	P.O. BOX 31		St

2	U	4	1	g	

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:	.
DATE 4-2-05 SEC. TWP. RANGE 10 W	CALLED OUT AM ON LOCATION JOB START, JOB FINISH 2:00 AM 3:00 AM 9:00 AM	DEACUTE
	COLINTY STATE	RECEIVED
LEASE TISCHUR WELL# LOCATION Share	on KS. 2/25, 8/5 Barber KS	ALIC 4 A 200E
OLD OR NEW (Circle one)		AUG 1 0 2005
CONTRACTOR DUKE #2	OWNER R+B Oil +Bas	KCC WICHITA
TYPE OF JOB production HOLE SIZE / 28 T.D. 4625	CEMENT	
CASING SIZE 5 1/2 X /4 DEPTH 46/2	AMOUNT ORDERED SUSY 60: 40: 6 + 4% 5 MS	
TUBING SIZE DEPTH	1255x ASC +5 Kolegal Persack +.5%	
DRILL PIPE DEPTH	FI-160 14 Gal Clapro SOU Gal mud-clean	•
TOOL DEPTH		
PRES. MAX //SO MINIMUM 200	COMMON <u>30 A</u> @ <u>8.30 249.00</u>	
MEAS. LINE SHOE JOINT 30'	POZMIX <u>20</u> @ <u>4.50</u> <u>90.σ0</u>	
CEMENT LEFT IN CSG. PERFS.	GEL 3 @ 13.00 39.00	•
DISPLACEMENT //2 Bbls 24 KCL	CHLORIDE@ ASC/25@ /0.25 _/28/.25	•
EQUIPMENT	Kol Seal 625 # @ 160 375,00	
EQUI MENT	FL-160 59 @ 8.40 495.60	
PUMPTRUCK CEMENTER/Ga/c/Salchin-	Mud Clean 500 of @ 1.00 500.00	
#30-302 HELPER Y) Wayn I NET	Cla pro 14 gl @ 22.90 320,60	
BULK TRUCK	Sodium Met 17 @ 1,50 25.50	
# 364 DRIVER Larry Freman		•
BULK TRUCK	@	
# DRIVER	HANDLING 214 @ 1.50 321.00	
	MILEAGE 12 x 214 x . 055 165,00	
REMARKS:	Min ChATOTAL 386/195	
Run 462' 51/1 "Csq. Dron Ball + circulate	SERVICE	
for I hour start 20 Bbs 27. KCL		. *
water 3 first 500 6als Mudiclean +36	S DEPTH OF JOB 4612	
trechwater Dlug Rot + moure W25 5x 60:6	O PUMP TRUCK CHARGE / 365.070	
MIX + pump 25 sx same for savery	EXTRA FOOTAGE@	
lement, Ama /25 xx ASC wash Pump +	MILEAGE 12 @ 4.50 54.00	
Lance Diva + +16x + Held.	MANIFOLD @	
	Head Kental @ 75,00 75,00	
CHARGE TO: R+(BOil+Gas		·
	TOTAL <u>1494.00</u>	
STREET		
CITYSTATEZIP	Y W PLUG & FLOAT EQUIPMENT	
	5/2	
•	1- Reg Guide store @ 160,00 160,00	
	1- Reg Guide 5100 @ [60,00 160,00 1- AFUINSER + @ 235,00 235,00	•
To Allied Cementing Co., Inc.	5-centralizers @50.00 250.00	
You are hereby requested to rent cementing equipment	1- TRP @ 60.00 60.00	
and furnish cementer and helper to assist owner or	@	
contractor to do work as is listed. The above work was		
done to satisfaction and supervision of owner agent or	TOTAL <u>705.00</u>	
contractor. I have read & understand the "TERMS AND	m. v.	
CONDITIONS" listed on the reverse side.	TAX	
ANY APPLICABLE T	ATOTAL CHARGE	
WILL BE CHARGE	DISCOUNT DE DAID IN 20 DAVE	
UPON INVOICING		
Warren & M. M.	P C Million	

PRINTED NAME